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QUESTION 1
View the Exhibit to examine the replay settings for replay parameters.
What is the implication for setting the values for replay parameters? (Choose all that apply.)

Exhibit: A. The COMMIT order in the captured workload is preserved during replay.

ORACLE Enterprise Manager 11¢g

€5 Help‘Logout

Databhase Conirol Database

M) T

Customize Options Prepare Replay Cliants nfait for Client Connedions Review

Set Up Workload Replay: Customize Options
Database orcl (_Cancel ) (Back]step2ofs [Next
Capture Name %

Some replay parameters can be modified to change the behavior of the replay.

Name |¥alue:

synchronization iTRUE |
conrisct_time_scale |IDD |
thirk_time_scale |100 |
think_time_auto_correct iTRUE |

B. The value 100 in the THINK_TIME_SCALE parameter attempts to make the replay client shorten the think time
between calls.

C. The value 100 in the CONNECT_TIME_SCALE parameter attempts to connect all sessions as captured.

D. The value 100 in the THINK_TIME_SCALE parameter attempts to match the captured user think time while
replaying.

E. The value 100 in the CONNECT_TIME_SCALE parameter attempts to connect all sessions immediately as soon as
the replay begins.

Correct Answer: ACD

QUESTION 2

You create two resource plans, one for data warehouse loading jobs at night and the other for application
jobs at day time. You want the resource plans to activate automatically so that the resource allocation is
optimum as desired by the activity.

How would you achieve this?

A. Implement job classes

B. Implement Scheduler windows

C. Implement the mapping rule for the consumer groups
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D. Set the SWITCH_TIME resource plan directive for both the resource plans

Correct Answer: B

QUESTION 3

Which three types of files can be automatically placed in the flash recovery area (fast recovery area in 11g Release 2)?
(Choose three.)

A. Alert log file

B. Archived redo log files

C. Control file autobackups

D. Server Parameter file (SPFILE)

E. Recovery Manager (RMAN) backup piece

Correct Answer: BCE

QUESTION 4

Refer to the exhibit.

Examine the Following commands and their output:

170-034 PDF Dumps | 120-034 Practice Test | 120-034 Braindumps 3/4


https://www.pass2lead.com/1z0-034.html
https://www.pass2lead.com/1z0-034.html
https://www.pass2lead.com/1z0-034.html

P 2L d https://lwww.pass2lead.com/1z0-034.html
aSS ea 2024 Latest pass2lead 170-034 PDF and VCE dumps Download

—— https://Pass2Lead.com

View the Exhibit and examine the Flashback Version Query that was executed after the preceding
commands.

What could be the possible cause for the query not displaying any row?

A. Flashback logging is not enabled for the database.

B. The changes made to the table are not committed.

C. Supplemental logging is not enabled for the database.

D. The database is not configured in ARCHIVELOG mode.

Correct Answer: B

QUESTION 5

You work with a newly created database. Presently, there is no application load on the database instance. You want to
create a baseline for tuning the application, so you decide to collect recommendations that can be implemented to
improve application performance.

What action must you take to achieve this?

A. Run Segment Advisor.

B. Run the SQL Tuning Advisor (STA).

C. Run the Automatic Workload Repository (AWR) report.

D. Run the SQL Access Advisor with a hypothetical workload.

Correct Answer: D
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